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1. 2011 =3 SFoHEER 92 Segm % TIEAY & TEI B,
(1 71-53 (2) 173:53
(3) 7253 (4) 7458
According to Census 2011, Beed district literacy rate was %.
(1) 7153 (2) 17353
3) 72563 4 7458
2, el W, gema R s Tt diee e
(1) wudm (2) gl
3) fodt (4) e
Aheri, Korchi, Mulchera and are the talukas of Gadchiroli
district.
(1) Dhanora (2) Pavani
(3) Jivati (4) Goregaon

3.  WIogrdl 3ol dedl 3 AT Algt 9igamd, 1 et et Fmir Bara. s wiekeAl gad

L EEaR G FRUIGI.

(1) firfess

2 T

(3 el

(4) eifee

During lava eruption, gases that escape out make cavities. The rocks with cavities in
them are known as rocks.

(1) dyke

2y  sill
(3) amygdaloidal
{4) batholith

ToeqT HHEIE SR / SPACE FOR ROUGH WORK P.T.O.
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4, fogwide ‘srefames’ wer e s SeeEr it T e Y6 gaear saien
3R ?
(1) TOTE-3, YEIU-2, 95x-1, a9i-1, TaHes- 1
(2) AWE-3, YSW-1, FgT-1, T91-2, Iqames- 1
(3) VIYL-3, HEW-1, IEQ-2, Fui-1, FGaAHTS-1
(4)  TWYL-3, WEM-1, I5qE-1, T4i-1, I9qHIB-2
The ‘Ashtavinayak’ tourist places of Vidarbha are placed in which of the following
districts by their respective numbers ?
(1) Nagpur-3, Bhandara-2, Chandrapur-1, Wardha-1, Yavatmal-1
{2) Nagpur-3, Bhandara-1, Chandrapur-1, Wardha-2, Yavatmal-1
(3) Nagpur-3, Bhandara-1, Chandrapur-2, Wardha-1, Yavatmal-1
(4)  Nagpur-3, Bhandara-1, Chandrapur-1, Wardha-1, Yavatmal-2
5.  Teeh frermen s fregm=n dim 9757 ?
(1) e (2)  weHoft
(3) e 4) afim
Which district dosen’® have a boundary with Hingoli district ?
(1} Beed (2) Parbhani
(3) Nanded {4} Washim
6. # et ufgeh o faleft wmae gt
(1) vimod vemre (2) TSl T
(3) ueHl HewE (4) Fe Ao

was the world’s first anti-dam movement.
(1) Bhimthadi Satyagraha (2) Narmada Satyagraha

(3)  Mulshi Satyagraha (4) Chirner Satyagraha

Foed] BRTAIST AR / SPACE FOR ROUGH WORK
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7. TR T o R g/ T A, o Yo B teest 9 2

(1) grerr (2) foreorung deen
(3) Y GHES (4) b FETERE 8w |
Who from the following said that the Indian railway was a Milking Cow for the
British ?
(1} Dadabhai Naurgji (2) Pherozeshah Mehta
(3) Jagannath Shankar Sheth (4) Pt. Jawaharlal Nehru
8. Ui 1888 9 UM TEHM YA A ERLERIE
(1) UxwHd (2) FERava
3)  dEy | @ fefm
Newspaper was started by Ganpat Sakharam Patil in April 1888.
(1}  Rashtramata (2} Vichar Vaibhav
(3) Deenabandhu (4} Deena Mitra

9. WS SdARH qE 1789 WA Sl SR wel 7

(1) omd s (2) W= &reg
(8 ¢cfume (4) s T
In 1789, the beginning of newspapers in Maharashtra took place with which
weekly ? '
(1) The Bengal Gazette (2} The Bombay Herald
(3)  The Telegraph (4) The Bombay Times
10. faeres faswd’ Tt fafae.
(1) TS STt (2) TETs s Fas
(3) fFET wRh 9ER (4) IO eI TaS
‘Vital Vidhvansan' was writien by
(1)  Gopalbaba Valangkar (2) Shivram Janba Kamble
(3) Kisan Faguji Bansode (4) Ganesh Akkaji Gavai

HAT HHTEIST HATT / SPACE FOR ROUGH WORK ) P.T.O.
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11. 9 g6 @il S Sfimey s aam tsaueisgd Repret o ?

(1
(2)
(3)
(4

T Rt v

TR ST T e

Which of the following features does the Indian Constitution borrow from the
Weimar Constitution of Germany ?

(1)
(2)
(3)
(4)

The idea of a federation with a strong centre
The method of Presidential election
The Republiec and the Idea of Justice

Provisions concerning the suspension of Fundamental Rights during National .
Emergency

12,  ‘TSUTAT YR ARG dva AT STEdid el Sivd faum sist 78t 7

(D

(2)
(3)

(4)

ARATE Toaae=a1 e favmma gorfas smae Wl ERRER S0 SR 39,
VR AT,

Ao T E 9T W ST Yore e .

yrig¥e dv € S TEM (non-justiciable) ST T @ —RneEin HrEET=T
USATeRe: QAT TIEAAET & SUTail Hed & S[ehd TTRI.

FEG AR A T AT F@ R TA Faod 3.

Which one of the following statements relating to the ‘Directive Principles of State

Policy’ is not correct ?

(1}

(2)

(3}

(4)

The provision contained in Part IV of the Constitution of India shall not be
enforceable by court.

The Directive Principles are fundamental in the governance of the country.

The Directive Principles are non-justiciable and hence cannot help the courts
in examining and determining the constitutional validity of law.

It shall be the duty of the state to apply these principles in making the law.

FoeH] BITETS! SN / SPACE FOR ROUGH WORK
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18. wials B faue geEre o ?

A, YT JovEsy AEEEe SesAT Mt fhgemea commer areme fsomen qish
w9 Qlovaia e, o1 éw et afowm T TeETen 24

@ o, 9w, 9, s R a0 ST SR SIS SEl T STEE S
Frorret et weden Fnentt &N THEAT AR AT,

F. NGO FEAAT IHER TSE WA e (09 SqaEE 8 STHEIHN AR AT HAEE

TITEl WS FHT JuR AT,
Tt IR
(1) % AH (2) wR ¥
@8 wHAB (4) A HAd T

Which one of the following statements is fncorreet ?

a. The Constitution directs every state to provide adequate facilities for
instruction in the mother-tongue at the primary stage of education to children

belonging to a linguistic minority community.

b. No citizen shall be denied admission into any educational institution
maintained by the state or receiving state aid, on grounds of only religion,

race, caste, language or any of them.

c.  The state shall not, in granting aid to educational institutions, discriminate
against any institution on the ground that it is under the management of a
minority.

Answer options :
(1) aonly (2) bonly

{3) conly {4) None of these

FeeT HETET W / SPACE FOR ROUGH WORK P.T.O.
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14, @ faus foamm e
A IS 262 I FAUGR ATEEY T wamedl I Farssmeia g
HOTTE AR HESHT 2.
q. umfl foag sfufew, 1956 =l sawedia 9d=m qaEst aersr Farsn i@
SRR ST FETE] SUFRR Fog TR AR,

I 39 ¢
(1) fae o1 =09 a2 ' (2) faum = STt o
(3) oG S e arga 4) A faum P amRa

Consider the following statements :

a. Article 262 empowers the Parliament to enact laws in order to provide for the
adjudication of disputes relating to waters of inter-state rivers.

b. The Water Dispute Act, 1956 empowers the Central Government to set up a
tribunal for the adjudication of the dispute relating to waters of inter-state

rivers,
Answer options:
(1) Statement a is correct (2) Statement b is correct

(3) DBoth the statements are correct (4) Both the statements are incorrect

15. WANRES T9Ra U |t 969 @Teid fage e
. fae 29 Yan 9 TeE SEvE A, (20 Remedia st 9 e aRweder)
. fa= 25 Y IRA TR MR TG, (20 feraeedie snfn 5 feume aRweer)
%, faumaddia amfcfim gomn 20 wemmdt 99 g It o 2R e

e e e,
Wﬂ"ﬁ?ﬂ){:
(1) o uA 31 S AR (2) W foue o se AR
(3) Taum o % W IRa (4) faun = anfl % SO AR
Consider the following statements about the ‘Panchayat Raj' committee in
Maharashtra :

a. It consists of not more than 29 members. (20 from the Legislative Assembly
and 9 from the Legislative Council)

b. It consists of not more than 25 members. (20 from the Legislative Assembly
and 5 from the Legislative Council)

e Out of the 20 members to be nominated from the Legislative Assembly, two
shall be from amongst the Scheduled Castes and two from the Scheduled

Tribes.
Answer opfions:
(1) Only statement a is correct (2) Only statement b is correct
(3) Statements a and ¢ are correct (4) Statements b and ¢ are correct

oed] HFTETS! SR / SPACE FOR ROUGH WORK
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16.  YRAT=] UIH=AT FHagoeha AT A T g TSRS a7aTe 3T,

(1) e o (2) TSA 9ER

(3) foumen we@ (4) eIt BIIAET ATE

In the election of the President of India the value of the vote of differs

from one state to another.

(1) Member of Lok Sabha (2) Member of Rajya Sabha

(3) Member of Legislative Assembly  (4) None of the above
17. A FU/FE HSET

H. g TSAUA g aagudt i Fratfia e smam.

§. U § AT whed gr veege o .

®.  TIUS g HUAE! AT AT Tg IW0 & Yohd 8.

Tt I

(1) FRIAFNT (2) FRWIAMIF (3) SFR A AT F 4) T F

Select the correct statement/statements.

a. The Governor of the state is elected by the President.

b. The Governor is removed by the process of impeachment.

c. The Governor cannot hold any other office of profit.

Answer options :

(1) aandbonly (2) bandconly (3) aandconly (4) conly
18. wrefier faur foamm :

d. 1976 @Tcll 42 =1 TG 3 HAE HASATE) A5 TeIEEAd HATE .

®. 2001 8l 84 T GAGEN FEHEA TEIYT HAeAT THET TTEEAT AT ST,
TSRt T faee a R oTTRd ?

(1) SRANNYE (2) SHIATF (3) FRAAVF (4) 3, T AT

Consider the following statements :
a. Fundamenta] Duties were not provided in the original Constitution.

b. Ten Fundamental Duties were added by the 42" 3 mendment in 1976.

C. The Eleventh Fundamental Duty was added in the Constitution by
the 84 amendment in 2001.

Which of the statements given above are correct ?

(1) aandbonly (2) bandconly (3) aandconly (4) a,bandc

weedT SHIIIE! AN / SPACE FOR ROUGH WORK P.T.O.
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19. R Touweds wd AnReniaT aifbe s dReer fien o, ot I e drm
THIA A MR, TIEHH ot I Hed 3T AIgn dTed Heed a7 GRENR U raeh. @
Fdi
A s wEEEr=a fasg M.
¥, e fediew arfie et sifaswE S e,

%, WIS oAy, ffaman s ey s 92 e que grevard sl
feer amem. mamR weTEETER Feft Sl oM.

FIAUH Pioreh forem/fae stier ama/emeT 2

(1) S H (2) BRI

(3) @ A MU H (4) waF | anfvT 9

The Constitution of India gives the Right to Religious Freedom to all citizens.

Ganpati Festival and Moharram appeared together. The administration laid down

some restrictions on Ganpati Mandals and Tabut Mandals. This actions is

a. against religious freedom,

b. an encroachment on the religious freedom given by the Constitution.

c. to protect the public order, morality and health. The Constitution has given
the government powers to restrict these things. Hence, the action of the
administration is correct.

Which of the above statements is/are correct ?

{1}  bonly {2) conly

(3) aandconly (4) aandbonly

20. TR WEd M 7 WHER Tr=uE FE AR fare e, a1 defvamd e W

o= AT 16 2778, & 4o gat= e yéia AR +ag 30 -
(1) TRfes =mErusm

(2)  rdafeaas FETiEr

(3) ™S <IETUSE

(4) Tk Wieer wreEmn sl

The Government of Maharashtra and the Central Government have a legal dispute.
To solve the problem, the Government of Maharashtra has approached the Supreme
Court. This dispute comes under the following jurisdiction of the Supreme Court :

(1)  Original Jurisdiction
{2)  Appellate Jurisdiction
(3)  Advisory Jurisdiction

{4y  Power to Reconsider Previous Decisions

Foedl BHTEIS! ST / SPACE FOR ROUGH WORK
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21, 0 e oA ¢

& o

w. Al sAfer-saTE L a7
T, wiiEd v HwETg I %an 12
%, T ok Pt wew III. <™ 8
3. gl wifed) M IV. o 2
it 3

H q Cd €
1 I II III v
(2) 1I I v T11
3 IV 11 I II
(4) III v I I
Match the following :

A B

a, Right to Information definition I. Section 7
b. Exemptions from disclosure II. Section 12
¢ Disposal of Request III. Section 8
d. Central Information Commission IV. Section 2

Answer options :

a b e d
1) I I III IV
(2) 1II 1 v III
3 IV II1 I II
(4) IO Iv I1 I

HoelT HHITS! SR / SPACE FOR ROUGH WORK P.T.O.
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22. Wil sfmer sfufem, 2005 = st sfifehe s wide e a@
Weeh HIAWTah W T @ FiErt TR,

. A &, HE F hded |

9. angear At anfor s e

® e Afierare i s A v
3. w9 wigd! et TR, em anftr TR ausfe

FeEeh HQ faam Ftet e ?
(1) A g (2) SR A, TG
3 F=wE (4) wad & N T

Every public authority under the RTI Act, 2005, shall publish within one hundred
and twenty days from the enactment of this Act,

a. the particulars of its organisation, functions and duties.
b. a directory of its officers and employees.
c. the property particulars of its officers and employees.

d. the names and designation and other particulars of the Public Information
Officers.

Which of the statements given above are correct ?

(1) aanddonly (2) a,banddonly

(3)  All of the abave (4) bandd only

23,  wifedt sifren sfufEm, 2005 78 sweien ‘gt <= fedt ven a7
() 9 2) 4
3) 2 4) 7

How many ‘schedules’ are there in the Right to Information Act, 2005 ?
n 9 (2 4
3 2 4 7

T TSI ST / SPACE FOR ROUGH WORK
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24, WA wfewr sfufEm, 2005 =0 gl RS fowemg Ineen SRS sTETaTRS

TTfed) ARTUETERET Hiv et HE A ?
(1) A% i (2) geH
(3) UHERE "USe (4) = w&=

Who is entitled to apply to the Public Information Officer designated as such in
every department as per the provisions of the Right to Information Act, 2005 ?

(1) Every citizen (2) Foreigner
{3) Corporate Body (4) All of the above

25. TS wifedt AR YA i ST STwar
A, I IR A,
q. T I Hifed g,
. IEVEE EA AT qrEE AR A o Tea it A,
T AEYEH WA FAS gE T T W U wied g,

el S faur sta s ?
(1) HF I M (2) ad 9 anfor %
3 wmTenfs (4) w AT

The State Information Commission shall consist of
a. The High Court Judge.
b. The State Chief Information Commissioner,

c. Such number of State Information Commissioners, not exceeding five as may
be deemed necessary.

d. Such number of State Information Commissioners, not exceeding ten as may
be deemed necessary.

Which of the statements given above are correct ?
{1) aandbonly (2) bandconly
(3) banddonly (4) aanddonly

YT TBHTTTS! SR / SPACE FOR ROUGH WORK ] P.T.O.
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26, G TRUNG AT ST F2 (FATY o1 59 90 9 v ?
(D) &I5a g ATl (2) IS AeAlhTH 2
(3) Wi ik T (4) et u
The full from of the term ‘FAT’ used in computers is
(1) File Access Technology (2) File Allocation Table
(3) File Application Technique (4) All of the above
27. Y.ANUA. BN F ?
(1) www T TITeFIR Toha
(2) www Thw fEE= =
(3) TR faemd <t mieh
(4) dEeR ey (sEfatRe dora-adn v
What is URL ?
(1) A software package used to cruise the world wide web (www)
(2) The address of a resource on the world wide web (www)
(3) The term used to deseribe Internet wizard
(4) Alive chat program (unlimited real-time language)
28.  ‘Giggey ®wdl (wHgrar) wisvi

(1) TR TH T2 TAWES IFEAM HEAH R

(2) THMEI TH T S FHH FIEIT A1

(3) PR il T2

(4) TR T

‘Giggey’ defines community as

(1) group of people who have something un-common
(2) group of people who have something in common

(3) group of different peoples
(4) None of these

T SATATS I / SPACE FOR ROUGH WORK
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29. ‘AW T T T A FheI IR TAAATESN G GIeeadeh] HATH wafaq ATed ?
(1) e (2) TEGEeA
(3) FR (4) Tl T

The terms ‘News Room’ and ‘Chat Room’ are related with following in relation with
information technology.

(1) Schools (2) Colleges
(3) Internet (4) None of the above

30. T2 AEg 39 FOT TR MYVIEE I SHES] TR =0T AiFead3/ o1 FE ey

e ?

(1) SIS (Browser) (2) THA (e-mail)

(3) ¥ (chat) (4) SO e e

Which of the following softwares is used to access and view sites on the world wide
web ?

(1) Browser {2) e-mail

(3) Chat (4) None of the above

8L, ‘BT wieg = HeHin Wiefiateht e A Hivr ?
(1) q g 4 fsfea dsmmar smnfa seam.
(2) oo A ST @ srEhar fsfoea < o,
(8) 4 e 9 fefiea v&a weram.
(4) staAtH T4

Identify the most suitable statements applicable for ‘Hybrid’ computers.
(1} It uses analog and digital technology.

(2) It has speed of analog and accuracy of digital.

(3) It accepts analog and digital signals.

(4) All of the above

32, ot 24, dt 24 aufv & 24 2 < VR AR,
(1) 30 (2) 3&¥ (3) g (4) =ha F&
B2C,C2CandB 2 B are types of
(1) e-mail {2) e-cash (3) e-commerce (4) All ofthese

FHUET DTS SR / SPACE FOR ROUGH WORK P.T.C.
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33. a1 st A arardia sfeen daes e e anfra agzE 1 el
(1) 3-5hr (2) feremanfeht
(3) wmfafEn (4) MIH AR
India’s first collaborative online Encyclopedia of Educational content created by the
learning communities is
(1)  e-Kranti (2) Vidyavahini
(3) Gyanpedia (4) None of these
34. 59 (WAP) 1 o1 ®0Te ol ¥9 w2
(1) IRRY IFihe FIEEh (2) ITREH FCHIHTH WEE
(3) I sTefiRye Y iw (4) e st fefaa
The full form of WAP is :
(1) Wireless Application Protocol (2) Wireless Application Processor
(3) Wireless Application Practice (4) Wireless Application Principle
35. U gN BT H2W 989 Emm Femesi s g9ve S 2
(1) Yemrre (2) HIH
(3) wEfEm (4) Tt T
The standard set of rules and procedures for control of communication in a network
is termed as
(1) Protocol (2) Controller
(3) Processing (4) None of the above
36. W fem o= (HDD fawmesd gefe aued aa qoyg s« fRiyem aemm

FoaEEt o= =t
¥, AR emhd F
%, IEUHFEE S ol

Tt I
(1) % AN (2) E 31 ST 4@
(3) FT § AT F (4) &, 9 AT &

Human Development Index (HDI) measures the average achievements in the
following basic dimensions of development :

a. A long and healthy life measured by life expectancy

b. Knowledge measured by adult literacy rate

¢. A decent standard of living

Answer options :

(1) aonly (2) aandbonly

(3) bandconly {(4) a,bandc

TRl BITATE! AIRT [ SPACE FOR ROUGH WORK
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37. wRIAYH v i deer dugea sfee gt 2
(1) IUEATT a@ T
(2) anfw rhrean g STeE
(3) qur T Hrew w0
(4) 39 oMftr Hult Irfter foraman S st
Which of the following is rot the long term objective of the Planning Commission ?
(1} To increase production
(2) Enhance concentration of economic power
(3) To achieve full employment
{4) To reduce inequalities of income and wealth

38. WrEid Teen Josal

@yl @y ll
(aeretis 7i9) (3%7 3R3)
A gEd A I aTcArniE
1. fowh @ 1. i fadem
F. e TS M. 9RTd o 3E9s JarE e
g OiEEl g IV. wenfies 9 94

A q ® E
(1) I 11 IT1 v
2y I I v II
3 1II IT1 I 4%
4 1Iv I I 11

Match the pairs? :
Column I Column 11
(Five Year Plans) (Main Objective)
a. Second Plan I.  Self-reliance
b.  Third Plan II. Removal of poverty
¢.  Fourth Plan III. Development of basic and heavy industries
d. Fifth Plan IV. Growth with stability
a b c

(1 I IL II1
(2) mI I Iv
3) II I11 I

4 IV I III

TUET BETATS! AR / SPACE FOR ROUGH WORK P.T.O.
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39, wrcfe faum femmoa =
A, Hige MEE AHRETS SEE Tge e 95 gue IR,
4. AR ST A6 dEE Sed i Said A1gd SER Th He Sigd W
FTEHRETA 378,
F. siflgw wdiw ApEmie 33 wrawed wEswaEt AR Sl o,
Fheh Ror fam/faam aa /e ?
(1) wFeIAa (2) we@asm® (3) w=H (4) wad A
Consider the following statements :
a. The Motto of All India Radio is ‘Bahujana Hitaya : Bahujana Sukhaya’.
b. One of the largest broadcasting organisations in the world in terms of the
number of languages of broadcast is All India Radio.
c.  AlR originates programmes in 33 languages.
Which of the above statements is/are correct ?
(1) aandbonly (2) bandconly (3) conly {4) aonly
40. ¥l I fff 7 sfils e o S e o S
(1) F= yfRar 3w Tt g (2) I= WiETHeHaT SvaTd ST
(3) oM gl UAm el (4) bt wd T
Even though employment has been mentioned as one of the objectives of economic
planning it has
(1) never been accorded a high priority (2) accorded a high priority
(3) given prime status (4) None of the above
41, YR@A AMEF AW 1) AviayEe Fae s T,
(1) famar Fdt o

(2) EAETE TS} TG FO

(3) T anfhr Fsemr=an aradia wAE Geft Foior

4) TF wd Wi

India’s economic plans made conscious efforts for

(1) reduction of inequalities

(2) establishment of socialist society

(3) creation of equal opportunities in the matters of education and employment
{4) All of the above

FTY] FHTATEE W / SPACE FOR ROUGH WORK
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42. @A foue fa=ame wn .

#. wiars o e SRR sfee @M e wvaa wdfi Tty e geamn
ZTige T S,

9. e I g Aemd T st ot gt eTelie siggE Sri/smRen
st 9.

®. T HeA1 A iR WETelie 'E onf Hivie Aae—ai que qrTg fGem glen
fwft =,

AR R faram TR aRa ?

(1)

Tr A T (2) SRIANT (3) TR AT (4) e ad

Consider the following statements :

a.

Integrated Rural Development Programme aims at raising families above the
poverty line by creating sustainable opportunities of self-employment.

In Jawahar Gram Smridhi Yojana, preference is being given to SC/ST families
below the poverty line and physically challenged persons.

Ganga Kalyan Ygjana provides irrigation facilities through ground water
sources to small and marginal farmers below the poverty line.

Which of the above statements are correct ?

(1)

aandbonly (2) bandconly (3) aandconly (4) Allofthe above

43, GeAeNS FUd dEwE aeeEeN T 7t ?

(1)
(2)
(3)
(4)

AR et v
TR Erfe ¥ TR g she s
faswe 4t %0 e sdeEe ke e

@l e geiee feee

Which of the following is ret a feature of democratic socialism ?

(1)
(2)
(3)
(4)

Faith in democratic values
A socialist society aims at removal of poverty
A socialist society aims at reduction of inequalities

Total abolition of private property
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44, el fum R
H. TF Had] T UH TS HrATTHIE AN HEA T o T o] FRers R,

A TH AR T TH ASTEAAT Fldd TH AW WK IWA T At Fe] 8T8 aoitdl

ST a2
. U Fadl T ASHed 71d fead sUSTR oa ot A e g9t e e,
it wivR faum s AT ?

(1) FRANUT (2) FRIATEF (3) FRIAANMT (4) owad

Consider the following statements :

a. The usual status indicates the unemployment status of a person during the

entire year.

b.  The current weekly status indicates the unemployment status of a person one

hour during a week.
¢.  The current daily status indicates the unemployment status of a person during
all the seven days in a week.

Which of the statements given above are correct ?

(1) aandbonly (2) bandconly (3) aandconly (4) All ofthe above

45. I PR (FHVTREA) R Z8h Thar e I AR, ST FgE OFE SN
TR ¥Ed.
(1) 20-33 (2) 5033
3y 40-33 (4) 333
If deprivation score is percent' or greater, the household is considered as

multidimensionally poor.
(1 2033 (2) 5033
(3) 40-33 (4 333
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46. s goaT
7z 3 T
R, SASEIH I. 3 s8R, 2005
q.  TEGN II. 23 9%, 2013
F. T AR Isifasn AyE III. 2 ggar, 2006
3. Ao GEE U Tl e e V. 3 99, 2011
G | % g
(1) I II o 1w
() IV I 0 I
3 mI 11 I v
(4) I v I I
Match the pairs :
Group A Group B
a. Aajeevika I. 3™ December, 2005
b. MGNREGA II. 23" September, 2013
¢.  National Urban Livelihoods Mission 1. 2" February, 2006
d. Jawaharlal Nehru National Urban V. 3™ June, 2011
Renewal Mission
a b ¢ d
(1 1 II I v
2 IV III 1[I I
(3) III II I v
(4) I v Il 1
47. T wrnee el gaw gudew (PURA) sfvmmmed @i wiad szl fagme gvara

AT FEA ?

(1) wifees Sievft (2) fsfew sevh

(3) anfde evf (4) |l Siguht

Which of the following connectivity was not# considered in PURA Model ?
{1) Physical connectivity "~ (2) Digital connectivity

(3) Economic connectivity (4) Social connectivity
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48. v PRI w2 MR swde F W dRvrs INEEieET Sieieed i
1 gl yE
. WO VeI st fasm ot fE &3 e weEwe efa,
¥, AN YRS STTSshedT aaadiE fad et We 9% itk ST shgd Bl
®. T WK GO aauEhia Sedrea 29,
FhAYR H0rA/dt forem/A SR m/amRa ?
(1) Sead U ® (2) Fewagaii s (3) T AMIT (4) HFT
The Planning Commission of India adopted the policy measures to remove regional
disparities as below :
a.  Special area development programmes implemented for direct development of
backward areas.
b. State Bank of India to provide concessional finance for industral projects
located in backward areas.
c.  To promote private investments in backward areas.
Which of the statements given above is/are correct 7
(1) aandconly (2) bandconly (3) aandbonly {(4) bonly
49.  GTEAIiR! BT FHRFHATE IR B HE THOT AP RIS TSR R g 2

(1) Trerdear aeonud Tay VIR

(2) i SEf wEl 9w qSAT (SISRY)
(3) @Yl TG UM WS 9T (SGSY)
(@ T T

Which of the following programmes aims to provide employment only to the rural
poor ?

(1) Self Employment for Educated Youth

(2) Swarna Jayanti Shahari Rozgar Yojana (SJSRY)
(3) Swarna Jayanti Gram Swarozgar Yojana (SGSY)
(4) None of the above
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50. wWrefid vt (A anfor B @rdt) Iw waa e

A, LP.G.URA I. 2017 9ed GEE, AEHRI SATen g, TRE @t
FedHT gaa yaw.
B. #a witfion g 1. fag srdeyaedm oy, svmriindla derassld 9%,
@R SATE JA9A 20 A1 FHR 0.
III. 1991 Wed LA, WISTNEATE NG, SgUSIT =411
TR AN
IV. U&Hq WGRAT Qiedl, A9 3T 916 a 4i9f
ITET A1e Ol gafar e 7 wwE.
qgidt I

(1) A 3mfor I1, B anfor IV
(2) B3t I, A anfer IV
(3) Asnfr 1 B aufor 11

(4) A sfer I1J, B amfor Iv
Select proper options for A and B ;

A, L.P.G. model I. Introduced in 2017, emphasises on co-operative
sector, free entry for domestic industrialists.

B. A New Gandhian II. Introduced in mixed economy, worked in market
Approach systems, encourages or discourages the private
sector. -

III. Introduced in 1991, emphasises on privatization,
free entry for multinationals.

IV. Integrated action, encourages the production
of food and electric power, education and
health care for all.

Answer options:

(1) AandIl,BandIV
(2) BandIl, Aand IV
(3) Aand [BandII

4) AandIll, Band IV
FHoeH] HTHITTE ST / SPACE FOR ROUGH WORK P.TO.
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51,  WAICUSh! IVl AT ARATE IAAA FIgT ?

(1)
(2)
3)
{4)

ot
Neiqd aF FOR 9
a3t

et NI 3

Which of the following is net a non-conventional source of energy in India ?

(1)
(2)
3)
(4)

Solar energy
Agricultural waste
Wind energy
Tidal energy

52, WIS P 1990 N TR GEATdrear ST Tiers S ok ?

(1)

(2)

(3)

4)

ORI q¢ 1991 Well T SyiaTd ScARTSAT 7-8 T Y gl
g TR AT A 1991 AE TOT IR ST 49-7 THHTdd dTea.
O] SHEEATIATET MR 81 hg, GOl TR @1 22-0 e@dd aea.

0w 94 =R

Which of the following is a cause of economie crisis in the early 1990s ?

(1)

(2)

(3)

(4)

The gross fiscal deficit rese up to 7-8 percent of GDP in 1991.

The internal debt of the Central Government rose up to 497 percent of GDP in
1991.

The burden of servicing of debt rose up to 22-0 percent of the total central

government expenditure,

All the above reasons
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53, GEJ® SARS ST SEdld FjauEbienT @ GrfiRume TE T O 3. Gt

A
T FETE SUNAYS ST Qe SO TR s g Wl
%, e SErdier seiRie WRNRen St e,

3. Trlgevphmemng o= wm feeen dume siomens ant w5

it I ;
(1) e 31 10 & (2) wF«
(3) % H, 9, i1 &+ (4) afe &

Disinvestment of Public Sector 15 one of the main elements of Privatisation. The
disinvestment is undertaken to achieve which of the following objectives ?

a. To provide good customer service.

b. To overcome political interference in managing the public sector industries,
c. To overcome corruption in PSUs.

d. To make effective use of proceeds from disinvestment.

Answer options :

(1) aandconly (2) bonly
{3) a,bandconly (4) All of the above
54. TAYLSH. YRR stmarsia amif anfor smifas S IS T el

(1) vEwHS 87 el SETE o e
(2) % Faish Jaaurba Tem
(3) wigar yuTuma fafdien Weare
(4) ¥ anftr e wHEA
LPG Model has followed the IMF-World Bank prescription of
(1) opening of public sector to private sector
{2) facilitation to foreign direet investment
{(3) encouragement to more exports
{4) stabilisation and structural adjustment
T THTHIS! ST / SPACE FOR ROUGH WORK P.T.O.
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55. U Hgmrl 9 Yhed (NHDP) 39 @< HamPl [gvware weivd o, sufor gams
HIG TGl 9f@=ET (PMBJP) Halig AR,
(1) Ty ST araefif
(2) unftor ym 9 yrEd 9 Sevart
(8) Tt wigt wemmie Hrevanht
(4) ¥ vl &z wEmiEh Srevanh

The National Highway Development Project (NHDP) deals with building high
quality highways and the Pradhan Mantri Bharat Jodo Pariygjana (PMBJP) deals
with

(1) building rural roads
{2) connecting rural area to urban area
{3) linking up major cities to highways

{4) linking all important centres

56. EEETR HUM faum/fuen Imkis SR @wen anfdr ¥ IEER W ueMin ana
SR/ 2

. ﬁmﬁfr(RedBoxJaﬁﬁaWTOﬁﬁ%sﬁWéawwﬁgﬂﬁﬁﬁ.
¥, S Sog IeH U ol SgH i, vaeAER Wl wva el deedl, Wy

T=ATTaEg, FaTE 20 T A,
. Vdlel UR o1 S9rEE e 9dl (Blue Box) siaia gfqatea svam stie.
gufdft s :
(1} %Fa X (2) —
(3) wad 3 anfor | (4) I [ AT H

Which of the following statements is/are correct about WT(Q and the domestic
subsidies ?

a.  WTO bans domestic subsidies granted under Red Box.

b.  Amber Box subsidies are those subsidies that are not banned, but against
which action can be taken.

¢.  Agricultural support measures in the Blue Box are prohibited.
Answer options :

(1) aonly (2) bonly

(3) aandbonly (4) bandconly
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57.  2004-05 WdiE ST SRS BEAM a6, T e Gl aEatE e
doEra It HMfil F% TwRaw siea

(1) Tt = S e

(2) e anfo Torbr e =t gEa
(3) Wi ITHAWE] G TEHT G& H
(4) = wd

According to result of PSEs in 2004-05, PSEs can show much better results in new

economic environment, if

(1) better autonomy is granted

(2) bureaucratic control is reduced
(3) private culture is infused in PSEs

(4) All of the above

58. e Rermw I i gameEh whe SUEIGEIEE
(1) gg=n 3= =
(2)  UermEEdE fer
(8) Midea WETdld AR w2
(4) = waf
The reforms process while accelerating economic development should led to
(1) a higher rate of growth
(2) an enlargement of employment potential
(3) reduction of population living below the poverty line

(4) All of the above
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59. EEIcIh! HIvid /Hordh e srdsaarigdie e /Aegm AR/ Rd ?
A g Sraea
9. g Yl fawm
F.  WARIfae SR 9924 (WTO) Haferd aregH
8. WEAE Sgedt i
waiE I
(1) & & (2) wEF @AM F (3) FH S (4) ol ud
Which of the following is/are the challenges before the Indian economy ?
‘a.  Mobilisation of resources
b.  Developing infrastructure
¢.  Facing the WTO challenge
d. Changing role of the state
Answer options:

(1) aonly {2} bandconly (3) donly (4) All of the above

60. 2 farlt oavEgR W snfereein ey SUAEE 9gUNld Suihe @ieiieiishl B
i fegerroam e 978t 2
(1) it et Traumer wnfis geie @i el
(2)  100% TAETh! gR T Tohehiet I,
(3) 6gh ITFRETR Fadell faavErert wre ST AR 3 100% T I9sRH IURE.
(4) FR Faisft TERERHT GEaTdien YRR TRIGRERT % S50 G5 e,

Which of the following strategies was not adopted by MNCs to penetrate the Indian
economy through FDI ?

(1) Some foreign investors bought off existing local brands.
(2) Setting up new units through 100% investment.

(3) After joint venture foreign investors went on to set up parallel 100 percent
subsidiaries in the same field.

(4) Some foreign investors initially opted for joint venture with Indian partners.
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6l. wihaUs! HId HRU/FRES WiSTeRRAT 39 Wisad T T e Wgishgd
WRATAREH! 2 AaTesha] ST firestet 2

3. AEHYF JIES IS

¥, Y i A Setavaren g

F. WA 3R () G

SO CEMIRECT I I RIEE | E R EG LI
quift 3=

(1) wad 1 AT §

(2) Wad &, & AT T

(3) HEd

(4) #, 9, FIAUE

Which of the following reasons is/are correct about lead for the capitalists all over

the world to divert their capital from the rich nations to a nation like India ?
a. Attractive consumer market

b.  Brighter chances of earning huge profits

c.  Liberalized policy of the Government

d. Foreign capital inflow allowed by the Governmént

Answer options ;

(1) aanddonly

(2) b,candd only

(3) conly

{4) a,b,candd
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62. WA fouM fa=rm@ = -

3. 2009-14 = Wiy MK GTTEAR SR SAviad =amRda G 2020 v goe
o 3 Sl e, |

a. 2009-11 1 g9 antETE It Fralfa 9t 15 23 ey Fvar g SR o,
%, HFArdl JHad IEE AEtEl SH oA A

it For foam geg amga ?

(1) e o o7y §

(2) a9 Ff %

(3) W ¥ ®

(4) =8a wd

Consider the following statements :

a. According to the Foreign Trade Policy (2009-14), the objective of the
Government is to double India’s share in global trade by 2020.

b.  The policy aims to achieve an annual export growth of 15 percent for two years,
2009-11.

¢.  Minimum land requirement for SEZs is reduced.
Which of the statements given above are correct ?

(1) aandbonly

(2) bandconly

(3) aandconly

(4) All of the above
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63.  1960-61 3 1990-91 AT FIBTq WiAeidehl HIVIAl 2 FHE WRATGA HTq WA Hare Tt
ufege ?
(1) Tewesie 3m
2) @ i EW
(3) anfds ager anfo fawm a9 (OECD)

(4 wfRe 7 Wit et Falds 29 (OPEC)

Which of the following groups of countries is the highest exporter from India during
1960-61 to 1990-91 7

{1) Developing nations

(2) Eastern European nations

(3) OECD (Organization for Economic Cooperation and Development)

(4) QPEC (Organization of Petroleum Exporting Countries)

64. i 2000 3 FEET 2015 W e SAFEE e 42 frEh jaavgn At wefa

A= JeBaT
&yl & IT
(&7) (T HigTH FIEIAST 2BHar)
. 9T aA 1. 581
¥, i wireaan A gIEdaR . 17-32
%, 3 III. 268
3. Yeiform 93 i A4 N IV. 391

H H Co x

1 1Iv ITI II I
(2) 1 I\ I11 II
@ o 1 IV IT1
4) 1IH 11 I v
Match the following sectorwise FDI inflows, from April 2000 to January

2015
Column I Column 11
{Sector) (Percentage in Total Inflow)
a Services Sector L 581
b.  Computer Software and Hardware II.  17-32
c. Power III. 268
d. Petroleum and Natural Gas v, 391

a b c d
1 Iv ITI I1 I
(2) 1 v I1I II
3 11 I v 111
(4) III 1II I v
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65. Wi faum o= = :
o, Wed MM gaN JauHE Al IRareT di o o 30 37 TRr 3@ 3N e e,
¥, WEN A YT TaaHe Y9l aEMed | T U 2 g R S R,
F. B I qANHRT S Taesal STgdTeT YRATE TaeHih | sl st 39 a8 {8 wea

e IR
TR FR faum g 3 2
(1) oa & ST & (2) waq € N %
(3) WIT & AT H 4) @ wd

Consider the following statements :

a. Standard and Poor credit rating for India stands at BBB - with stable outlook.
b.  Moody’s credit rating for India was last set at Baa2 — with stable outlook.

¢.  Fitch’s credit rating for India was last reported at BBB — with stable outlook.
Which of the statements given above are correct ?

(1) aandbonly (2) bandconly

(3) aandconly (4) All of the above

66. Wefiorieh FoTg faum U=t a1 ¢

(1) 2007-08 7 2011-12 I1 FIBT g, WHRT] TS T Teqel FTIH L TEgaAIe Al
AR

(2)  2007-08 3 2011-12 A FIB hg, TEHRAT 3THTE T HEYT TeIH H TEgemaan nfw
3T8.

(3) 2007-08 @ 2011-12 W HB@ hg THAA ToIe HHGHA d FUDH H gl q9H
3,

4) STeH! PR TR

Which of the following statements is correct ?

(1) Direct tax revenue of the Central Government is higher than indirect tax
revenue during 2007-08 to 2011-12.

(2) Indirect tax revenue of the Central Government is higher than direct tax
revenue during 2007-08 to 2011-12.

{3) Direct tax revenue of the Central Government is equal to indirect tax revenue
during 2007-08 to 2011-12.

(4) None of the above
aﬂwmﬁt WM | SPACE FOR ROUGH WORK
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67. gFw FdmEEnn wEeaw fow @ dwca Rl S o wEfee fam weeam

WIS 59 Qreliddeh! e & s ?
(1) ST %H 2) TH. f
(3) wHdt. &= (4) g gmes

Modern economists have developed the concept of functional finance. The origin of
the term functional finance is attributed to

(1) J.M. Keynes {2) A.C. Pigou

(3) A.P.Lerner (4} Richard Musgrave

68. A Hell=al WIYEd eyl Hewia wrefier faum fammoe
a.  Tafire wremedia = 3 0.

9. vlaswell 5 T T AW IEIETR YW g HANAT F9 - YW SWaid Ieaned
s fafere e e Tife.

. Aferdie el @ Te wiwTd Ieae JHT AT T |6 o v See e,
TR HIv FquT sE 3TEa 2
(1) %&a 3t anr g (2) wF F M0 F

(3) ®ad H fT (4) =i\ v

Consider of the following statements with regard to the criteria of sustainability of
Public debt :

a.  Debt should be zero at a specified period.

b.  Debt to GDP ratio at a future point of time should be reduced to a specified
portion of today’s debt to GDP ratio.

c.  Debt to GDP ratio for the future may be fixed at today’s ratio.
Which of the statements given above are correct ?
(1) aandbonly (2) bhandconly

(3) aandconly (4) All of the above
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89, wrefler faur foemd on
3. TEEH T FEIR ASE1 1 IR 2013 Jshl SER S,
9. g YRarid 35 feeneed & diem tafva ol
F.  THH AN TR A1 A G A1 W= S O A IR qA el
Flieta S/t favm /3 s AR /eme 2

(1) Tea 1 3MIg  (2) GFdd @) wwaFAfT® (4) wH

Consider the following statements :
a.  The Direct Benefit Transfer Scheme was introduced on 15 January 2013.
b.  In the beginning this scheme is implemented in 35 districts in India.

¢. The Direct Benefit Transfer Scheme is designed to reduce corruption and

control expenditure.
Which of the statements given above is/are incorrect ?

(1} aandbonly (2} bonly (3) bandconly (4) aonly

70.  =wa fmiw, wEren A ol G B wEE (MNREGA) i Tfta anfla s fiem
(NRHM) ? QTIeteh! $Hivre] Yeheal @9 IS0 3Rd 7

(1) weaeh @4 2 fafse e
3y afafm e (4) IFEEAUE T

The programmes like Bharat Nirman, MNREGA and National Rural Health Mission

(NRHM) are examples of
(1) Capital expenditure (2) Planned expenditure
(3) Non-planned expenditure (4) Non-transfer expenditure
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71, TSHMET SEEEaT i g saasad AR devta areite T foemme =
W, g HER TSI I it ST e FEel 2004 He¥ T e,
¥, WL 2009 749 #Egel g BT HEA LrEt A0,

F.  WiH 2009 T TIRT §¢ € WO AT STEATT 3% Al HHT O,
Tl v faum e angd ?
(1) Faa A AT (2) EgdaAfis (3) %ad A Wis (4) o gd

Consider the following statements regarding the FRBM Act :

a. The Central Government Fiscal Responsibility and Budget Management Act
was passed in 2004.

b. Revenue deficit to fall to zero by March 2009.

c.  Fiscal deficit to be reduced to 3 percent of GDP by March 2009.

Which of the statements given above are correct ? _

(1) aandbonly (2) bandconly (3) aandconly (4) All ofthe above

72. HHEEK A i@ R,
(1) 3ifam Jar 303 (2) oTIg AR S
(3) =l araa N (4) ealia o
Impact of tax refers to
(1) Final money burden (2) Indirect real burden
(3) Immediate real burden (4) TImmediate money burden

78. W FORUBOR HeEeh sETASET WM 7 A ?
A, WM A
4.  IEid = a9 @9

%, ey guft

g TaEid o] SuE §

qaidt I _

(1) %9 A (2) FHRISANE (3) wHFdH (4) T I I 8

Which of the following factors is/are net a part of revenue budget ?

a. Investment in shares ,

b.  Current consumption expenditure on commodities

c. Transferable payments

d. Current consumption expenditure on services

Answer options :

{1) aonly (2) bandconly (3) conly (4) aandd only

FHochl HIFTHISE AT / SPACE FOR ROUGH WORK P.T.O.




Z10 36 A

74, ¥ 2011-12 96 Fg TR TSIRNR SR Seuid el Siedl 34

Y 37 WY T
(awiieT) (@)
A, WEg q¢ I 27%
q.  WE TN g2 II. 44%
®. Wi qe L. 31%
3. el | IV. 57%

A q &+ g
(1) II v I I
2) 1 II II1 v
3 IV 111 II I
4) III v 1 II

Match the following pairs regarding the Central Government fiscal imbalance

in 2011-12:
Column A Column B
(Particulars) {Percentage)
a. Revenue deficit . 27%
b.  Gross fiscal deficit II. 44%
¢.  Primary deficit 1. 3-1%
d. Interest payments V. 57%

(1) II v I III
(2) I II III v
3) IV III II I
(4) II v I II
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75. WA wvar fGemeEE e I\ gt 7

1
(2)
3
(4)

fom Swsprn R
G TY

S 3T PIA @A
AT ST '

Which of the following is rof treated as development expenditure ?

(1)

Expansion of developmental activities

(2) Expenditure on subsidies
(3) Expenditure on interest payments
(4) Expenditure on social services
76. 1991 f wgrmon wfet ___ @ven srensoEne g s e
(1 #t o Faw (@) TS, S
3) wF W (4) . Migua
The Tax Reforms Committee, 1991 was constituted under the chairmanship of
(1) Shri Vijay Kelkar (2) Raja J. Chelliah
(3) LK Jha (4) M. Govinda Rao
77, O FETEA SAEE T SR G _ AT IR,
(1) fowm =
(2) AfaFmETas a1 JqaRE g9
(3) wrEae ==
(4) IRE =

Government expenditure on maintenance of defence establishment is an example of

(1)
(2)
(3)
(4)

developmental expenditure
non-developmental or unproductive expenditure
capital expenditure

productive expenditure
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78. UNHINT q¢ = Tege! ST + — R @

(1) WSl et (2) HEge! ATl

(8) ITEEHE T (4) TR TEREA SRS &

Fiscal deficit = Revenue receipts + _— Total expenditure

(1) Capital receipts (2) Revenue receipts

(3) Budget deficit (4) Government market borrowings

79. fodfta cqaeda Q@aat TG TIHUNT, Qeileiishl iUl /S Fdigen 39 fgmg §9 aw

T TR /AR ?

F, Yy SR &Y% e (MMMF - Money Market Mutual Fund)
4. g ® (Reverse Repo)

®.  Ugdl TaESH R (LAF — Liquidity Adjustment Facility)
2. i wrl gl (MSF - Marginal Standing Facility)
TR IW :

(1) %% H

(2) %ad § 0T g

(3) wEq T AN =

4) ®ITE

Which of the following is/are the latest measure(s) introduced by the RBI to
influence liquidity in the financial system ?

a.
b.
c.

d.

MMMF (Money Market Mutual Fund)
Reverse Repo

LAF (Liquidity Adjustment Facility)
MSF (Marginal Standing Facility)

Answer options:

(1)
(2}
(3}
{4}

a only
b and d only
b and ¢ only
d only
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80, Wa AyA fS=RE = . |

H T TAFHINT e ered 9% AT 3 qewrt e 9R T,

§,  TeArAT SR F SIS Aed O AeTe Sl fged 9% A6 3 W,

%, fget ¥ e ifen avi@ A9 Y1 U= fam afverh aun ged efie geaeema smafa
.

FOATH Ho faum = g ?

(1) % = Jfor 9

(2) wad 9 A *

(8) v o Al %

(49 a0 v

Consider the following statements :

a.

The Reserve Bank of India plays a vital role in the fiscal management of the

states.
The important function of the RBI is to help the states to raise market loan.

The RBI has been organizing the State Finance Secretaries forum twice a year

at its headquarters in Mumbai.

Which of the statements given above are correct ?

(1)

(2)

(3)

(4)

a and b only
b and e only
a and c only

All of the above
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81. #f TNY wifag I HEHTd Glds! HIv [GUHE sE AR 7
(1) @ 9Rar 153 TR Sl 3Tee.
(2) @ IT UCH AYA IUIR GER oA 3734
(8) o aforey 37Ifor sher gEEteR 3.
(4) 1998 B TUHT <dmardl ward) wemr=ar FfdAR 3 ees Yayum wed fagdl
el AR T Afae F9d g,
Which one of the following statements in respect of Shri Ram Nath Kavind is
correct ?
(1)  He has become India’s 152 President.
(2)  He is the second President from Uttar Pradesh.
{3) He is a commerce and law graduate.
(4)  After the formation of the NDA government in 1998, he became private
secretary to the then Prime Minister Ata] Bihari Vajpayee.
82.  “101= weAgEEd! fufiam, 2016’ aEa @ielle faum fa=mma = ;

H. D I@ 9 HGT F A0 AT

q. AR wied) e et et

. TS HI=HE 268-A TG AT

. WS ST 246-A, 269-A, 279-A TN FWIfI FA T,

et ot fu™ st sma ?
(1) a3 3nfor g (2) HEq A, 9 3T F
(8) THHI F MM S (4) 0@ =

Consider the following statements about the ‘101" Constitutional Amendment Act,
2016’ :

a. It introduced the GST.

b. It amended the Seventh Schedule.

C. It omitted Article 268-A.

d. It inserted new Articles 246-A, 269-A, 279-A.

Which of the statements given above are correct ?
{1) aandbonly (2) a,bandconly
{3) canddonly {4) All of the above
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83. Grelielht HIvd faam g oTE 2

(1)
(2)
(3)
(4)

qRAw 2Ed ‘T waer faw’ g 25 SHErd A9 G e A,
HERTSZT XAl Uy waeR fome’ 81 7 ot U= | shell S,
25 AR 1 g Faeve TR auied fiaw ang.

AR wehEl T

Which one of the following statements is ircorrect ?

(1)
(2)
(3)
(4)

‘National Voters' Day’ is celebrated every vear in India on January 25.
‘State Voters’ Day’ is celebrated every year in Maharashtra on July 7.
January 25 is the foundation day of the Election Commission of India.

None of these

84, EEERA A A e R 0

(1)
(2)
(3)
(4)

2018 = wmfes afEen gitgg IMTRe w9 sTEsH WiE FOM TR,
2021 <A1 ST o qEgg AR WEY ST W HOR AR,
16y gfdag Sfelin Wi e IRETd SR B 37T,
et wwd T

Which one of the following statements is incorrect ?

(1)
(2}
3)
(4}

India will host the 2018 Women’s World Boxing Championship.

India will host the 2021 Men’s World Boxing Championship.

The Men's Boxing Championship will be the first event to be hosted i India.
None of the above

85. HRATEAT A8 YNTEAIE (el IdiwIadiel ‘3Toe =% B Hars 9 HUNE g U

T ?
(1)l @ wofa Ty
(3) &M g&l (4) et area

Who has been bestowed with the highest peace time gallantry decoration ‘Ashok
Chakra’ on the 68" Republic Day of India ?

(D)
(3}

Nirbhay Singh (2) Harpreet Sandhu
Hangpan Dada (4) Kapil Yadav
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86. mmmmmw@aaﬁwma@mwm?

(1) fvem s (2) TRNTg
(3) TS (4) FATH
The world’s biggest cricket stadium will come up in which state of India ?
(1) West Bengal (2) Maharashtra
(3) Gujarat (4) Karnataka
87. TETE FEh) WAl faevEr e fEam Al e s gem) 2 e
T HI ST I ?
(1) e (2) ToEY™A
(3) A W (4) ToOH

Which state has become the country’s first state to lay down the minimum
educational qualifications for contesting elections to village cooperative sacieties ?

(1) Maharashtra (2) Rajasthan
(3)- Madhya Pradesh (4) Gujarat

88,  WRNISI=A Hewid ary Hud D@,
(1)  uvfior gefiean emmad SR’ @1 T@rE g9 sraif<T 8.
(2) ‘Fdd a1 Rl difeair 50 T A 5 Ang T HEd vaid A9
(3) ‘et F=r arsY @ Fsah afeset @ 5l e s vrash & s,
(4) IR THE TR
Identify the correct statement with reference to Maharashtra.
(1)  For education of rural girls a scheme named Umed’ is being implemented.

(2)  Under the scheme of ‘Manodhairya’, assistance of ¥ 50 thousand to T 5 lakh is
given to victims,

(3) The brand ambassador of ‘Mazi Kanya Bhagyashree’ is a Hindi film actress
Bhagyashree.

{4) None of these
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89. HEWIY YYUI GERN HIMIET I Wi SR 2

A, TG TGS 4.  Ifaw weREE
®.  AWERS gHiywE 5. A it
gt W
(1) % & 20§ (2) Fa 3, F W F
(3) Ea 3, ¥ anfor g (4) el qd
Who received the Maharashtra Bhushan Award ?
a. Jayant Narlikar b,  Anil Kakodkar
c. Nanasaheb Dharmadhikari d. Avinash Dharmadhikari
Answer Options :
(1) aandbonly (2) a,bandconly
(8 a,banddonly (4) All of the above
90. HENINM 3T HTER AT G ZATdl IR HTRE 2016 Well FT0ATA e

(1) ¥RE T A4, I

(2) WG T B AR, TG Fm

(3) T EE gt

4) 1. freae anam

The beginning of the second phase of Amrut Aahar Yojana’ has been
launched in August 2016 in Maharashtra.

(1) Bharat Ratna A.B. Vajpayee

(2) Bharat Ratna Dr. A.P.J. Abdul Kalam

(3) Shyama Prasad Mukherjee

(4) Pt. Deendayal Upadhyaya

91. 1,35, 739mmﬁwwqmmmwmqﬁaﬁmmm
9 EEE Y e 969 g wig e
(1) 6666666 {2) 6666660 (3) 6666600 (4) 6866000
A five-digit number is formed using digits 1, 3, 5, 7 and 9 without repeating any one

of them. Select the option that indicates the sum of all such possible numbers.
(1) 6666666 (2) 6666660 (3 6666600 (4) 6666000

92, WW@WWW@W( ) TR, 12 YA e G a9 afsaen
g A B, At o du AN a9 fed ¢
(1) 1244, 36 ad (2) 20 a4, 40 a4
(3) 894,24 a4 (4) 174, 44 9

1
A son’s age is E'd of his father’s age. After 12 years the son’s age is half of his

father’s age. Then, what is the age of the son and the father today ?
(1) 12 years, 36 years (2) 20 years, 40 years
(3) 8 years, 24 years (4) 17 years, 44 years
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93. s X wdfie fenar Hreiurem wrft @ a@aa @ faft feufa 3 weoar davarardl ahaa
whar .

s 4
&

(4}

Select the logical image for replacing the empty triangle of the figure X, without

turning or changing its position.

Answer Options :
N A
(1 (2) (3) (4)

FHET FIRTAIET AR { SPACE FOR ROUGH WORK
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94. R oo 9 63 fedf/ar areft T ee=n Svare feda 3 fepdiyer aeft S o wsETen
500 Hiex Tei=h W Tt Shemed IR A ? |
(1) 25 (2) 30 (3) 45 (4) 40

How many seconds will a 500 metre long train take to cross a man walking with a
speed of 3 kmm/hr in the direction of the moving train if the speed of the train is
63 km/hr ?

(L 25 (2) 30 (3) 45 (4) 40

95. U umg 15 forrll Zfamieg Ireen onfn A sudieRe gwmen de 13 Rt v a1 e
gesedT HITU 25 Tt TTeren 99w AT A1 3TN TUGETAT T fFen ' 2

(1) “=ea (2)
(3) I (4) afEo

A man walks 15 km towards south and then turns to the right. After walking 13 km,
he turns to the left and walks 25 km. In which direction is he from the starting place

now ?
(1) South-west (2) North-east
(3) North " (4) South

96. UH IETEASHS 9 qrEad UNH AT Wie i, SEfuAea gerl € wea ewH
Fiavien snsfi=anl e geren st el gorll 3R, T sEEde Hefte swgoan

A FE ?
(1) <fam (2) 7wl
(3  afeh (4) iRt T

Pointing to a photograph Anuradha says to Shashi, the girl in the photo is the
second daughter of the wife of the only son of the grandmother of my younger sister.
How is the girl in the photograph related to Anuradha ?

(1) Sister (2) Daughter
(3) Sister-in-law (4) None of these
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97.  ®fit 71 FR Y& 3w I, HER T T vam 39 g, g @ Wifin g 39 amg, fRm a
Hel YE 39 AR, o GawEd o w2
(1) @R (2y fufim
(3) ai (4) FER

Samir 1s taller than Kabir, Kabir is taller than Amir, Sudhir is taller than Shishir,
Shishir is taller than Kabir. Who is the shortest among them ?

(1) Samir (2} Shishir

(3) Amir (4) Kabir

98, e Tfie MeT=T g7 o, o WBUd, “Ht T 2 oTHuH 9'Ad Tt sl el
S TN 56 T2 B w1 el Jidie WEEdd oEmd.” S e dewret

g Z3EmE 9 e,
(1) o= ffves 3o squr a8 2) 56
3 10 (4) 26

Veena has a collection of coloured marbles. She says, “If I divide the marbles into
two unequal numbers, then 56 times the difference between the two numbers equals
the difference between the squares of the two numbers.” Select the option which

indicates the total number of marbles Veena has.
(1) There is no definite answer {2}y b6

3 10 4) 26
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89.  TH FHIREA 13 6 fak swmeen A7 Gafs @t goifemn aen. sea f {59 =l
STt e, dent fodfi foash wnare geevmma swdre 2

o

(i) (1i}
W‘f‘éﬂ :ﬁﬂ :
1 (2) 4 (3) 5 (4) ©
Two positions of a cuboid with 1 to 6 dots are shown below. When the three dots will

be on the top face, how many dot will be at the bottom face ?

(i) (i1}
Answer Options ;
(L 1 (2) 4 3 & (4) 6

100. UH WeIS HaW e e |w meEn 3w svea, e ot e € faem 9 siiew
T megmed i o, favem Ot el e awfvr wiesar v wmeEmed oft o, AWt
e TE € fiae o Mdivae TR, W dt el e Wivedl M WaS ATE. W
qhatd Hv/d frsed @Ein A amga ? v
A, Faeen Tt ME Feard et @ AROR MewTER wEkE SR
q. VAT TTAT TEFEAT SE! a4 Ehat dtel UIT fohdl ie=1 T ST STH0IR.

F. 0l G TS I AgHE wiean VIl MET ST,

B/

QAR T
(1) & @S wwg! A8 (2) wd
(3) ¥ eligwd (4) & i = I

There are seven cars with different colours displayed in a showroom. The car in
indige colour is standing between yellow and violet coloured cars. The green car is
between red and white coloured cars. The orange coloured car is next to the yellow
coloured car, but it is not near to the red or violet cars. Then, which of the following
conclusions is/are definitely true ?

a. The yellow coloured car will always be between the indigo and orange coloured
cars.

b. Either the red coloured or white coloured car will always be to the next of the
violet coloured car.

c. The white coloured car will always be to the next of the orange coloured car.

Answer Options :

(1) Nonebuta (2y All

(3) All except a (4) Bothbandc
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(8) wgReasd fafgn Foien fafie arfie =98 #m (@ a%) ==, wAYfesrfale Joubdes @ @
TG F FW HoT™ o ) FOAAT RIAA HA AR, AW AFS THET 9 AR ISR TR
TR horew wltamed g iR SfiEy HeaEEeY wifem-82” afte wgdigen wwan
W ¥a 9 Q) suadi Burel U aufen wOararEaT A1/ fhar TR ww gAR el deT= e
T B,

(9) v WrehEEd A fifga Feh 3@ TreTEE At § TR wa. el dhmeTamit
U3 AEE WEE AR, W qfiseeant WagE! SHEETt Aot IWOiRe T WA-1
TR 7 fea uw w sravas .

. . 201.

¥. . 201.

AT IR

A= aTer T HUIES vl gea: T et ?

1w Ty T (2) e fremmR

(3) Tom THAIET T4 (4)  TIIBH T

W IEE I IR (3) TS AR T A TR, AR W W I (8) a‘ﬂa
IR Gieites Y 96 . 201 T SwEnw @) 7 9 i st s
TEf e oTR.

® @ @ 6

T TG T WA S WA AT STHAT B RRTen Taeadicn qiaien
Iofrale T o TEhRTREEE e 996 QU ST we GRaamEl. EIeRie
T AT VITEY AU ST, Afer 31 v U T .
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